gboo bogb 12020120 70 1200
gogo oo

Oooosooooosoooboooooooobobooboooobooboboooo

1. SCcRROOOODOONO SO0O0OU0O0O0OOOOOOOOf,g:Q—=ROC*0000
oogd

0*f 0*f O°f .
(1) Af = 81‘2+8y2 +822 O0000div(grad(f)) =Af0000
(2) div(gegrad(f) — ferad(g)) = gAf — fAgOODOO

(3) (2)0 Gauss0O0ODOOD0OO0OO000 GrenDOODODOODO

/Q(gAf — fAg)dzdydz = /S(g grad(f) — fgrad(g)) - dS

2. 00n:S—RO00OD0OODO0OO0O0OOOOOOO SOOOOOOOOO —nO0O0O0OO
DD—SDDDDDDDDDDD/ V-dS:—/V-dSDDDD]]DDDDDDnDD
-5 S

000 ¢:U - S00000000 ¢ :U =S80 o) =¢/(U)00000000000
3. 000 E:={(z,y,2) e R®| (x/2)* + (y/3)* + (z/4)*=1} 00000

(1) E000D0O0O000O0000000000 150000000000 E0DDO0O0O0OO0
(2) 82 :={(z,y,2) eR3 |22+ +22=1}00divV =0000000000 VvOOOO

V.dS= | Vv.4dSOOOOOOOOFED S?2000000000 Q0000 Gauss
FE S2
00000000000 =FEU(=5?). 0020000
(z, y, 2)

(3) R*\{0}0 000000 V(z,y,2) =

DDDD/V-dSDDDDDD
V(@ 2+ 22)3 5

4. T :={(z,y,2) eR} | (2 +¢y* + 22+ 3)* = 16(x* +¢y*)} 0000

(1) x=rcosf,y=rsind 000070 r0,z0000

(2) TOODODODODODDOOOOOODOOOO

(3) R®ODMODO z=rcosacosf,y=rsinacosB, z=rsinf0O0000TOra,0000
000000 1207/19000000000000000000000O000O00O0O0O0O

(y + 2)yz
SO00000000V(2,y,2):= | (++2)z DDDD/V%BDDDDDD
S

(z +y)zy
0000000 1.0 f(z,y,2) =2yz, g(z,y,2) =z+y+ 20000
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